10.1.1. 2000 Jeets VBT eIodw 0T SAS Wb OTBIYT. 85 TePBADRY, APV TR 0FTNIDES 2,00 Teano3, 3
ReeBTEITY, WSO (.08 Jeees FPTYSB SJaDRY, X D) 20w B ST Y 20D SrichEew)

20w Rtk PYIBB WS X B8NS D) o B W3S y sH3O.
20w SRt YHVBT WS =27 (00T B 2I)
JoX=2*FYy=2y (08 WHT 2y Aod B¥weN)

= X-2y= 2y-2y=0

10.1.2. 3YNS Teanod, 5 Scesen s, ax+by+c=0 deadd Wi, @3 otedd a,b ) ¢ MY ST w3dWd.

33 JDedde | ax+by+c=0
2x+3y=9.35 | 2x+3y-9.35=0
x-4-10=0 |x-Y-10=0

5 5

-2X+3y=6 -2X+3y-6=0
X=3y X-3y+0=0
2X=-5y 2X+5y+0=0
3x+2=0 3x+2+0=0
y-2=0 0*x+y-2=0
5=2x 2X+0*y-5=0






